HAFFKINE BIO-PHARMACEUTICAL CORPORATION LIMITED

Acharya Donde Marg, Parel, MUMBAI - 400 012 COVID19 TASK FORCE

MATERIAL RECEIPT FROM DONORS UNDER C.S.R.





PPE KIT SUPER PREMIUM(Coevrall Suit, Shoe Cover, N95 Mask, Gloves, Goggle, Face Shield & Disposable Bag)

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	9-May-20	7:00 PM	MEER FOUNDATION	MH-43-BG-4888	PARAS TRADING CORPN	80	50	4,000
							Total	4,000

101512020 Atmany

HAFFKINE BIO-PHARMACEUTICAL CORPORATION LIMITED

Acharya Donde Marg, Parel, MUMBAI - 400 012

COVID19 TASK FORCE

MATERIAL RECEIPT FROM DONORS UNDER C.S.R.





NON CONTACT INFRARED THERMOMETER

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	9-May-20	11.15 AM	MICRO POWER PVT.LTD	MH02EU6900	MR.N.S.LAD	1	5	5
							Total	5

MAN 2020

13 Umary

HAFFKINE BIO-PHARMACEUTICAL CORPORATION LIMITED

Acharya Donde Marg, Parel, MUMBAI - 400 012

COVID19 TASK FORCE

MATERIAL RECEIPT FROM DONORS UNDER C.S.R.

PPE KIT (Coverall single suit, Shoe Cover, N95 Mask, Gloves, Goggles, Disposable bag)

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	9-May-20	05.30 PM	ISHANYA FOUNDATION	MH48AG 7246	Mr. Sandip Kakade	50	50	2,500
2	10-May-20	12.30 AM	Larson And Toubro, Maharashtra	MH43BG7595	Mr. Shankar Devkar	90	35	3,150
3	10-May-20	12.30 AM	Larson And Toubro, Maharashtra	MH43BG7595	Mr. Shankar Devkar	5	70	350
							Total	6,000

المحمد ال



HAFFKINE BIO-PHARMACEUTICAL CORPORATION LIMITED Acharya Donde Marg, Parel, MUMBAI - 400 012

COVID19 TASK FORCE

MATERIAL RECEIPT FROM DONORS UNDER C.S.R.



MEDICAL PROTECTIVE FACE MASK

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	9-May-20	10:00 PM	SANY HEAVY INDUSTRY IND. PVT. LTD.	MH-04-FU-7416	MR. S. K. AMBURE	250	400	100,000
							Total	100,000

July 20 20

131 many